» Langer & Laumann®

Montageanleitung
Assembly Instruction

TSG in Canossa —
TSG in Canossa

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 1/26



¥ Langer & Laumann’

TSG in Canossa —
TSG in Canossa

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 2 /26



» Langer & Laumann®

Lieferumfang — scope of supply

picture Number description DE description EN guantity

8.20.00101.04 TSG V4 Lift Door Operator -Electronic TSG V4 lift door operator -electronic 1
extern- extern- 230[VAC]/50-60

8.20.4000x.X1 Motor Gross Links/ Rechts & Getriebe, motor large left & gearbox, 1
24V/4,9A/1:15 24V/4,9A/1:15

1.20.92110 Adapterplatte adapter plate 1

1.20.60069 TSG Turfligelmitnehmer, extra lang (ca. TSG door panel coupler, XL (ca. 1
67,5cm) 67,5cm)

1.20.60060 TSG Kombiwinkel, Ausfiihrung 'Hut', flir TSG ~ TSG universal bracket, version 'hat’, 2
Motor oder Umlenkrad for TSG motor or counter roller

1.20.60046 Futterblech fur Turfligelmitnehmer distance sheet metal for door 4

coupler
1.20.60030 TSG Anschlagsatz Puffer inkl. Halterung TSG stopper kit buffer incl. holder 1
1.20.60020 TSG Anschlag fur Turfligelmitnehmer TSG stopper for door coupler 1

06.12.2022

1.20.91984 Umbauanleitung TSG in Canossa_V1.0



» Langer & Laumann®

picture Number description DE description EN guantity

1.20.60013 TSG Halter fiir Umlenkrad TSG bracket for counter roller 1

1.20.60005 TSG ZahnriemenschloR, Stahl TSG toothed belt lock, steel 1

1.20.60003 TSG Umlenkrad TSG counter roller 1

1.20.59070 Halterung Puffer fir M3TK rectangular stop for M3TK 2

8.20.60002.40 TSG Zahnriemen [4,0m)] TSG toothed belt [4,0m] 1

1.36.00501 Sperrzahnmutter, dhnlich DIN6923 vz - serrated locking nut, similar to 8
M8 DIN6923 vz - M8

1.36.00440 Scheibe DIN125A vz - 8,4 washer DIN125A vz - 8,4 18

1.36.00176 Sechskantschraube Vollgewinde DIN933 hexagonal bolt, thread up to head 16
vz 8.8 - M8x25 DIN933 vz 8.8 - M8x25

1.36.00430 Sechskantmutter DIN934-8 vz 8.8 - M8 hexagon nut DIN934-8 vz 8.8 - M8 8

06.12.2022

1.20.91984 Umbauanleitung TSG in Canossa_V1.0

4 /26



» Langer & Laumann®

picture Number description DE description EN guantity
1.36.00115 Sechskantschraube Vollgewinde DIN933 hexagonal bolt, thread up to head 2
vz 8.8 - M8x40 DIN933 vz 8.8 - M8x40
1.36.00169 Federring DIN127 vz - M8 lock washer DIN127 vz - M8 18
1.36.00720 Sperrzahnschraube WN0274 A2C 8.8 - hexagon head serrated screw WN0274 2
M8x20 A2C 8.8 - M8x20
i 8.20.13330 Schraubentiite screw bag 1

06.12.2022

1.20.91984 Umbauanleitung TSG in Canossa_V1.0

5 /26



¥ Langer & Laumann’

Vor Umbau -
before conversion

§ | TR spiegelbildlich -
TR mirrored

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 6 /26



¥ Langer & Laumann’

Nach Demontage —
after disassembly

TR spiegelbildlich -
TR mirrored

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 7 /26



¥ Langer & Laumann’

Montage TSG -
assembly of the TSG

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 8 /26



¥ Langer & Laumann’

. | Number DE Description EN Menge |
1.20.60046 | Futterblech filr Tirfligelnehmer distance sheet metal for door coupler 3
1.20.60069 | Turfligelmitnehmer 675x35x6 door panel coupler 675x35x6 1
1.36.00115 | Sechskantschraube Vollgewinde DING33 vz 8.8 - M8x40 | hexagonal balt, thread up to head DINS33 vz 8.8 - MBx40

| 01.36.00501 | § hnmutter Shnlich DING923 vz - M8

serrated locking nut, similar to DING923 vz - M8
washer DIN125A vz - 8.4

Scheibe 150 7091-M8 (@9}-100HY (DIN126),vz

Federring DIN127 vz - M8 ook washer DINT27 vz - M8
06.12.2022

1.20.91984 Umbauanleitung TSG in Canossa_V1.0 9 /26



¥ Langer & Laumann’

Pos. | Number Dascription DE Description EN Menge

210 | 01.20.60060 TSG Kombiwinkel, Ausfihrung "Hut", fir TSG Mator oder Urnlenkrad TSG universal bracket, version "hat" 1

310 | 01.36.00135 Sperrzahnschraube DIN 6321 MGx12 verz. hexagon head serrated screw WN0274 A2C 8.8 - MEx12 | 4

320 | 01.36.00332 Senkschraube vz 4.8 DINSES - M4x10 countersunk screw w. cross recess DINGES vz 4.8 - M4x10 | 1

410 | 08.20.40000.X1 | Motor Gross Links & Getriebe, 24V/4,9A/1:15 motor large left & gearbox, 24V/4,94/1:15 1

420 | 01.20.60160 | Zahnriemenrad, STD8M, d=14H7, D=56[mm], B=15[mm), mit Nut, mit 1 Bordscheibe | timing belt pulley, STD8M, d=14H7, D=56[mm], B=15[mm] | 1
06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0

10 /26



¥ Langer & Laumann’

Pos. | Number Description DE D iptis Menge |
310 | 101.36.00176 | Sechskantschraube ISO 4017 - M8x25 - 8.8, vz | hexagonal bolt, thread up to head DINS33 vz 8.8 - M8x25 | 4
320 | 01.36.00501 | Sperrzahnmutter ahnlich DING923 vz - M8 serrated locking nut, similar to DINGS23 vz - M8 4
330 | 01.36.00440 | Scheibe 1SO 7091-M8 (@9)-100HV {DIN126),vz | washer DIN125A vz - 8.4 4
340 | 01.36.00168 | Federring DIN127 vz - M8 lock washer DIN127 vz - M8 4

~

06.12.2022

1.20.91984 Umbauanleitung TSG in Canossa_V1.0

11 /26



¥ Langer & Laumann’

Montage Umlenkrolle —
assembly of the counter roller

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 12 /26



¥ Langer & Laumann’

Pos. Description DE Description EN Menge

210 | 01.20.60013 | Halterung Umlenkrolle fiir Spannstation TSG bracket for counter roller ]

310 ) 01.36.00115 | Sechskantschraube Voligewinde DINS33 vz 8.8 - M8x40 | hexagonal bolt, thread up to head DING33 vz 8.8 - M8x40 | 1

320 | 01.36.00501 | Sperrzahnmutter hnlich DINGS23 vz - M8 serrated locking nut, similar to DING923 vz - M3 1

330 | 01.36.00450 | Kotfligelscheibe DINS22 vz - 8 4x20x1,25 wing repair washer DINS22 vz - B.4x20x1.25 1

340 | 01.36.00169 | Federring DIN127 vz - M8 lock washer DIN127 vz - M8 1

410 | 01.20.60003 | Tate L TSG counter roller 1

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0

13 /26



¥ Langer & Laumann’

Pos. | Number Description DE Description EM Menge |

210 | 01.20.60060 | TSG Kombiwinkel, Ausfiihrung "Hut", filr TSG Motor oder Umlenkrad | TSG universal bracket, version "hat" 1

220 | 01.20.60110 | Spannlasche fir Spannstation clamping tab for clamping station, normal execution 1

310 | 01.36.00720 | Sperrzahnschraube WN0274 A2C 8.8 - MBx20 hexagon head serrated screw WN0274 A2C 8.8 - M8x20 | 2

320 | 01.36.00115 | Sechskantschraube Vollgewinde DING33 vz 8.8 - M8xd0 hexagonal bolt. thread up to head DIN933 vz 8.8 - M8x40 | 1
06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0

14 /26



¥ Langer & Laumann’

| Pos. | Number Description DE Description EN Menge
210 | 01.20.82110 | Adapterplatte Otis 9550 adapler plate Otis 9550 1
0 | 01.36.00176 | Sechskantschraube ISO 4017 - M8x25 - 8.8, vz | hexagonal bolt, thread up to head DINS33 vz 8.8 - M8x35 | 4
0 | 01,36.00501 | Spermzat ahnlich DING923 vz - M8 serrated locking nut, similar to DING923 vz - MB 4
330 [ 01.36.00440 [ Scheibe ISO 7091-M8 (@9)-100HV (DIN126),vz | washer DIN125A vz - 8.4 4
340 | 01.36.00169 | Federring DIN127 vz - M8 lock washer DIN127 vz - M8 4
-

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 15 /26



¥ Langer & Laumann’

340

01.36.00169 | Federring DIN127 vz - M8

lock washer DIN127 vz - M8

Pas. | Number Description DE Description EN Menge
310 | 01.36.00176 | Sechskantschraube IS0 4017 - M8x25 - 8.8, vz | hexagonal bolt, thread up to head DING33 vz 8.8 - M8x25 | 4
320 | 01.36.00430 | Sechskantmutier ISO 4032 - M8 - 8.vz hexagon nut DING34-8 vz 8.8 - M8 4
330 | 01.36.00440 | Scheibe ISO 7091-M8 (@9)-100HV (DIN126).vz | washer DIN125A vz - 8.4 8
8
I

06.12.2022

1.20.91984 Umbauanleitung TSG in Canossa_V1.0

16 /26



¥ Langer & Laumann’

Montage Zahnriemen -
assembly of the toothed belt

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 17 /26



¥ Langer & Laumann’

o
bl T
Oy
210 (3
Pos. | Number Description DE Description EN Menge
210 | 08.20.60002.40 | TSG Zahnriemen [4.0m] | TSG woothed belt [4,.0m] | 1

%

o

@

Y

06.12.2022

1.20.91984 Umbauanleitung TSG in Canossa_V1.0

18 /26



¥ Langer & Laumann’

"‘-J
.il i
Foe. Number Description DE Description EN
[ 210 | 01.20.60006 | TSG Zahnriemenschloss, Stahl TSG toothed belt lock, steel
| 310 | 01.36.00135 | Sperrzahnschraube DIN 6921 MGx12 verz. hean head serrated screw WN0274 A2C 8.8 - MGx12

| i

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 19 /26



¥ Langer & Laumann’

Zahnriemen spannen, Variante 1 -
tensioning tooth belt, variation 1

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 20 /26



¥ Langer & Laumann’

Montage Anschlagpuffer —
assembly of the bump stops

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 21 /26



¥ Langer & Laumann’

. | Number Description DE Description EN M
210 | 01.20.55070 | Halterung Puffer fiir M3TK rectangular stop for M3TK 2
310 | 01.36.00720 | Sperrzahnschraube WN0274 A2C 8.8 - M8x20 hexagon head serrated screw WNO0274 A2C 8.8 - MBx20 2
20 | 01.36.00430 | S tmutter SO 4032 - M8 - 8vz hexagon nut DINS34-8 vz 8.8 - M8 4
330 | 01.36.00440 | Scheibe ISO 7091-M8& (@9)-100HV (DIN126),vz washer DIN125A vz - 8.4 2 Q
340 | 01.36.00169 | Federring DIN127 vz - M8 lock washer DIN127 vz - M8 2
410 | 01 .20.911;3& Gummi Metall Puffer 30x15, MEx20 Gewindebolzen | rubber-metal burng stop D30x15, threaded stud MBx20, 75 Share | 2 -

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 22 /26



¥ Langer & Laumann’

. | Number Description DE cﬁpﬂnn EN Menge

210 | 01.20.60020 | TSG Anschlag fir Tirfligelmitnehmer TSG stopper for door coupler 1

310 | 01.36.00710 | Sperrzahnschraube WND274 A2C 8.8 - M8x16 | Hexagon head serrated screw WN0274 A2C 8.8 - MBx16
T - - LAY

-

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 23 /26



¥ Langer & Laumann’

. | Number
310 | 01.36.00710 | Sperrzahnschraube WN0274 A2C 8.8 - M8x16 | hexagon head serrated screw WNO274 A2C 8.8 - M8x16 | 1

SIS |

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 24 /26



¥ Langer & Laumann’

= QP Py = = =

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 25 /26



» Langer & Laumann®

Langer & Laumann Ingenieurbiiro GmbH
Wilmsberger Weg 8

48565 Steinfurt

Germany

‘o) Tel.: +49 (2552) 92791 0
o

support@Iul-ing.de
www.lul-ing.de

06.12.2022 1.20.91984 Umbauanleitung TSG in Canossa_V1.0 26 /26



